
 

 

     

           SAI EDUCATION TEAM 

           MODEL QUESTION  PAPER    (ENGLISH) 

 

 

1.'അനുകൻ' എന്ന പദത്തിന്റെ  

അർഥറെന്ത്‌? 

a.അളിയൻ   b.കാെുകൻ 💡 

c.അച്ഛൻ d.ബന്ധു 
 

2.'നന്നാർ'ആരുറെ തുലികാനാെം ആണ്? 

a.പി.സി.കുട്ടികൃഷ്ണൻ  

b.െുട്ടത്തു വർക്കി 
c.പി.സി.ഗ ാപാലൻ 💡 

d.എ.റക.ഗ ാപാലൻ 

 

3.'റവള്ളായിയപ്പൻ' ഏത് കൃതിയിറല 

കഥാപാത്തൊണ്? 

a.ഓെയിൽ നിന്നത b.കെൽത്തിരത്തത്‌  💡 

c.അസുരവിത്തത്‌ d.ഏണിപ്പെികൾ 

 

4.The play 'Nil Darpan' is associated with? 

a.Dina Bandhu Mitra  💡 b.Bishnu Charan Biswas 

c.Digambar Biswas d.Lord Mayo 

 

5.Ball pen functions on which of the following 

principles? 

a.Viscosity  b.Surface Tension 💡 

c.Gravitational Force d.Boyle's Law 

 

6.Right to IT Act (RTI) was passed in Indian on 15th 

June 

a.2001   b.2002 

c.2004   d.2005💡 

 

7.According to the constitution of India,who certifies 

whether a particular bill is a money bill or not. 

a.Prime Minister         b.President 

c.Speaker of Lok Sabha  💡       d.Finance Minister 

 

 

8.The Kerala  Institute of Local Administration is 

situated in which of the following district 

a.Thrissur💡  b.Kollam 

c.Palakkad  d.Ernakulam 

 

9.The Chilka Lake is in 

a.Goa   b.Odisha💡 

c.Assam   d.Karnataka 

 

10.Ascorbic acid is 

a.an enzyme  b.a protein 

c.a vitamin 💡  d.an amino acid 

 

11.Who is the new Chief Minister of Uttarakhand?  

a.Yogi Adisthanathil         b.Trivendra Singh Rawat💡 

c.Manohar Parekkar       d.Dev Raj Mikka 

 

12.Who is the ambassador of Green Kerala? 

a.Manju Warrier  b.Mammootty 

c.K.J.Yesudas💡  d.Sreenivasan 

 

13.Where was this year's Shanghai Cooperation 

Organisation Summit head? 

a.Bishkek  b.Sochi💡 

c.Zhengzhou  d.Astana 

14.The sum of two numbers is 12 and their product 

is 35. What is the sum of the reciprocals of these 

numbers? 

a.35/12  b.10/2 

c.5/6  d.12/35💡 

 

15.The salary of a person was reduced by 10%.By 

what percent should his reduced salary be raised so 

as to bring it at with his Original salary. 

a.11 1/9 %💡 b.9 1/11 % 

c.9 %  d.10 % 

 

 



 

 

 

16. (4 of 3/8 ÷ 3/8 + 1/7)=? 

a. 6 1/9  b. 4 1/7   💡 

c. 5 1/7  d. 7 1/8 

 

17.If  x/5 = y/8 ; then (x+5) : (y+8) is equal to 

a.3 : 5  b.13 : 8 

c.8 : 5  d.5 : 8 💡 

 

18.A man travelling at 4 km/hr reached his town 5 

min before time.If he travelled at 3 km/hr he reaches 

his town 5 min late.The distance between his home 

and town is? 

a.5 km  b.2 km💡 

c.10 km  d.4 km 

 

19. IJK : NOP :: RST : __ 

a.WXY  💡  b.XYZ 

c.UVW   d.UYW 

 

20. 5,__,23,47,95,191 

a.17  b.15 

c.13  d.11💡 

 

21.Nursery is a __ as well as a profession 

a.Vocation💡  b.Violation 

c.Vacation  d.Promotion 

 

22.A name adopted by an author in his 

writings.Choose the correct one word. 

a.Synonym  b.Anonymous 

c.Antonym  d.Pseudonym💡 

 

23.The foreign word 'Caveat' means 

a.A symbol  b.A warning💡 

c.A request  d.A command 

 

24.She is looking __ a chance to talk to you.Use the 

correct preposition. 

a.of   b.at 

c.for💡   d.to 

 

25.The Masculine gender of 'Doe'. 

a.Stag💡   b.Horse 

c.Colt   d.Cock 


